MMEMRABO0

free time on the move

EN
DE
FR
ES
BG
CS
DA
EL

PROFESSIONAL AIRDYN G

Istruzioni di montaggio
Fitting instructions
Montageanleitung
Instructions de montage
Instrucciones de montaje
WHCTPYKLUUK 3a crnobasaHe
Navod na montaz
Monteringsvejledning
Odnyiec ouvapuoidynong

Made in Italy

ET
FlI
HR
HU
LT
Lv
NL
NO
PL

Paigaldusjuhend
Asennusohje

Uputa za sastavljanje

A felszerelés médja
Pritvirtinimo instrukcijos
Stiprinasanas instrukcija
Instrukcja montazu
Monteringsveiledning
Instrukcja montazu

PT
RO
RU
SK
sL

sV
K
ZH
AR

Instrucdes de Montagem
Instructiuni de montare
WHCTpYKUnKn No ycTaHoOBKe
Navod na montaz

Navodila za pritrjevanje

Monteringsanvisning

Uydurma talimat =~

sfeigE 7

L] Slodss
- 7



[IT)Componenti (Inclusi)

[IT]Ricambi (A Richiesta)

N et et N, . Q| oo
{ESE]]&;ponémes (Incli l(JIir(’j]U% [ES]Piezas de recamb?o (Previa solicitud)
1 — 2 2 | 700007900000
5 __ 3 2 | 700037200000
3 4a 1
4a | SX 4b 1 | 700047300000
4b ) DX 5 2
5 0
7 1 | 700035600000
6 N
9 1 | 700034600000
L~
5 0 2
! Q 12 (&) o6x18 4
— 14 _©) M6X16 4 | 700047500000
7!1( 15 D me 4
g !
SN 17 2
9 10 2 | 700048400000
n @stw 4 | 700047900000
o A2 —
10 NS
7 13 @ ) M8X25 4 | 700048600000
1 \ ) @8X17 16 1 | 700025000000
12 ‘, ?6X18 17 4 | 700025300000
13 @@ () M8X25
14 @ § M6X16
OPTIONAL KIT 000084800000
15 N
17 19







POSITION 1 POSITION 2 POSITION 3 POSITION 4 POSITION 5 POSITION 6
< <X < <
< < Sl — | —F 5 ;
YEAR | 654321 654321 654321 654321 654321 654321
@, z é % Eoé @, ;(ob @, z é @, ‘Eoé @ ;(oé
CITROEN Berlingo Ill 2 18> [ J [ J
OPEL /VAUXHALL | Combo (E) 2 18> [ ] o
PEUGEQT Partner lll 2 18> [ ] [ ]
PEUGEQT Rifter 2 18> [ J [ J
TOYOTA Proace City 2 18> [ ] [ ]
®
N.
10| &7 | 4

11

8X17

13

@ )
M8X25




2

@@

Meéx16

14

12| © e6x18 | 2

N7




@— OPTIONAL KIT
Art.000084800000




MAX 100kg/220.5Ib

MAX 50kg/110lb

/\ ROOFTOP TENT /N\

m




STATIC

‘ i ﬁ-n-
2'5" —

DYNAMIC

o

NS PRODUCT
2 REGISTRATION

@©.3Af@ FlliMenabo Sl
% datiety Via 8 Marzo, 3 -Z.I. Corte Tegge

V3 MA® 42025 Cavriago (RE) ITALY
M 500042900000

=ietes reed  customercare@flli-menabo.it
@ J;I:J:r : 03/02/2023
-ET.=_'.  www.menabocaraccessories.com



